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24BAF2C1

B.Com. (A&F) DEGREE EXAMINATION, APRIL 2025
Second Semester
Accounting and Finance
FINANCIAL ACCOUNTING - 11
(CBCS - 2024 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1. Define the term “Address Commission”.
a6l &6 euaTwLMISs.

2. What do you know about Red ink interest?
Sleuliy enw eully UM 2 ard@ Cgfbseuhenm 6r(psis.

3. List the classification of Branches.

Sanargeflen euansliLm L LI I1g i)l (h BIGET.

4. Write a short note on Dependent branches.
g Slenerger LHOHw HAm @Dl eT(pseLb.

5. List any two differences between Branch accounts and
Departmental accounts.
HeTEHMTEGHEBEGLD  FMDESMTEGHH@REGSD @ e Gu
gCaand @ e GCeumpiumhEemaris Lil g wadl[Hs.

6. Write a short notes on specific charges and give two
examples.

O sl Lemmmsear updlu Sm @dlusmer  er(pd
gmﬁn@\ 2 SMTGUTRIGEET 6T(LPGIS.



10.

11.

Define partnership deed.

Gl LTaTenld LSS TSs euaTuimi&Eee]L.

Write short note on fluctuating capital methods.

gHD @DSSLIeT epgar wpepser ubHdw SAm @bl
CUMTE.

Give a brief about realization of Assets.

Qersgl wHILAHOEH UHD FHESOTES Fonis.

Give journal entry to transfer of book values of assets as
recorded in the Balance Sheet.
@muyblanes @&OI0Ged udlay Qeuiwiun’ Hérer

Qerggissaiien Lsss wIlysamer brHneusHE GOILICUE
UGS

Part B (5 x5=25)
Answer all questions, choosing either (a) or (b).

(a) Mr. X purchased a machine on hire purchase
system. He made cash payment of Rs. 30,000 and
the balance was payable in 5 annual instalments
Rs. 60,000 each. The cash price of the machine is
Rs. 3,00,000. Assume that the purchase was made
on 1st April and the annual instalment are payable
on 31st March of every year. Calculate the amount of
interest for each year with proper journal entries.

. sy eurLans Camatpsd el @
Qupdrsens eummdlearmt. eur ep. 30,000 uamTSMS
Qegusdarmr, WSsuperer 5 eu@pLTBAT Seuamanrsaia
sor ep. 60,000 QeqssiiulLgl. @Qubsrssler Liewr
edlene em. 3,00,000. Camerpger gLz 1 <yib Csdl
Qeliutiul g wHOID UGBS Seuament eeubleum(m
gerhh  wrrE 31 oem  Qessliuph  ererm
meausgs Camear@Epmisedr. sflwumer @OLGUEH  WwHmID
GuL g udlelT SieTeneuds SarTdd (h hiGET.

Or
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12.

(b)

(a)

What is instalment purchase system? Discuss the
journal entries to be passed in the books of
purchaser and vendor.

seuamenr  C&TETIPSED  MLIL]  GTETMTED  GTETET ?
uTBIGUGUT  Wwomb  elpueerwurert  Lsshisafld
sgriuiuL Caargw ugdfléms 2 drafament ubm
clleurdlGsayb.

Show white Ltd. has two departments — cloths and
readymade clothes. Ready made clothes are made by
the firm itself out of cloth supplied by the Cloth
Department at its usual selling price. From the
following figures. Prepare Departmental Trading
and profit and loss account for the year ended 31st
March 2013.

Particulars Cloth  Readymade
Dept

Opening stock 1.4.2012 3,00,000 50,000
Purchases 20,00,000 15,000
Sales 22,00,000 4,50,000
Transfer to readymade clothes 3,00,000
department
Expenses :
Manufacturing - 60,000
Selling 20,000 6,000
Closing stock on 31.3.2013 2,00,000 60,000

The stock in the Readymade Clothes department
may be considered as consisting of 75% cloth and
25% other expenses. The Cloth department earned
Gross Profit at the rate of 15% during the year
2011-12. General expenses of the business as a
whole came to Rs. 1,10,000.
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Cagmr  quil SOGQLL @l  GiepEaerd
CsrarheTerg - glewilser LHMID YUISS AL GHET.
YWSS P &6  Fmeiarssmed  gafls  geppuimed
aupmslulL.  glanfludedlmbs DSET  ULPSSHLDTET
dpueer afleveude swrfssiin@dermer. Gere b
yerefleleormaefledmbg. wrrg 31, 2013 ey
(PaIMLBS AT HETET HEODEFTT GUTHSSHLD LOHDHID
MU eyl & Hemsamsd swmiléEse]b.

efluyd gl BUSS
gl glevm

Qsr_és sy 1.4.2012 3,00,000 50,000
GameTpgd 20,00,000 15,000
aflpLiemen 22,00,000  4,50,000
PSS BDLEET FIEODESG 3,00,000
LOTHDELD
QFealser :
2 puss . 60,000
&L @ 20,000 6,000
@uidsrafmriy 31.3.2013 2,00,000 60,000

QWSs YL ser Wfelld odrer @@Ly 75% giew
wHpmd  26%  @sr Osove|smers  CamaTLsrss
smsluLmd. 2011-12 <ib yerriqed gewlls giann
15% eremp eflgsdler Cwrss eorusmsls CQUHDE.
Qwrss ellwrunrsder Qurgs Ceweyser em. 1,10,000.

Or
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(b)

Kasi & Co. has 2 department A & B. department A
sells goods to Department B at normal selling
prices. From the following particulars prepare
Departmental Trading and Profit and loss account
for the year ended 31.3.2019 & also ascertain the
Net profit to be transferred to Balance sheet.

Particulars A (Rs.)) B (Rs.)
Opening stock Nil 1,00,000
Purchases 2,00,000 23,00,000
Goods from Dept. B 7,00,000
Wages 1,60,000 1,00,000
Travelling expenses 1,40,000 10,000
Closing stock at cost 1,80,000 5,00,000
Sales 15,00,000 23,00,000

Printing and stationery 16,000 20,000

The following expenses incurred for the both
departments were not apportioned between the

departments :

Particulars Amount (Rs.)
Salaries 2,70,000
Advertisement expenses 90,000
General expenses 8,00,000

Depreciation should be charged @25% on the
machinery value of Rs. 48,000. Advertisement
expenses are to be apportioned in the turnover ratio,
salaries in 1: 2 ratio and depreciation in 1:3 ratio
between departments A and B general expenses are
to be apportioned in 1: 3 ratio.
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s1fl e Cam eyds@ A wpmibd B erar @ gienmaer
2 _aTerg).

A gieopuliler B gieops @ alpuemer allamaulCaCu gré@
dApstiu@dpg. SpsaiL  sseudsmers  Gamer(),
31.3.2019 b <yearh WueysaE gleopuler afwimumry,
@eoru BULE sans@samer swumt Gsuwaebd. Cogib
@muy Hlenes G@pliysE wrHnesd QEiwiumb
Blar Qerusams samsdlLe]ib.

efiluyd A (em.) B (e.)
QT8 sr&dmy Nil 1,00,000
Gametpged 2,00,000 23,00,000
geop B Welmpg eups 7656 7,00,000
2argluiib 1,60,000  1,00,000
Gurésearss Cswey 1,40,000 10,000
Qndsrsmiy 1,80,000  5,00,000
&L @ 15,00,000 23,00,000
/581D 16,000 20,000

Qe GdnSHEESGSL gHuBL Werelmd CFme|ser
SdDs@EH&sE Qe Cu udlibgefss inLctldame.

eSluib Qsrens (em.)
sbuaTd 2,70,000
aferours Dgvay 90,000

QurgFCsaa|sar 8,00,000

eh. 48,000 ererm @uipdly wSHinded Csuinrernd @25%
auGlssiiuL Geuam@b.  efletbursd  CDFweysEr
dppapser Nlzsdd, esbuetd 1 0 2 eremm
Mdssdaud, 1 : 3 aldlgsded Cswiwmaripnd A wHmid
B gianpa@ps@n @l Cuwrear Qungs Ceweyger 1: 3
AdlgsHer LSlTpsaissiiuL Geuar(hHib.
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13.

(a)

Sharing of profit on Effective Capital Ratio. Sachin,
Sanat and Sohali Started a partnership firm on
1.1.2023. Sachin introduced Rs. 10,000 on 1.1.2023
and further introduced Rs. 5,000 on 1.7.23 Sanat
introduced Rs. 20,000 at first on 1.1.23 but
withdrew Rs. 8,000 from the business on 31.7.23.
Sohali introduced Rs. 12,000 at the beginning on
1.1.23, increased it by Rs. 4,000 on 1.6.23 and
reduced it to Rs. 10,000 on 1.11.23. During the year
2023 they made a net profit of Rs. 56,100. The
partners decided to provide interest on their capitals
at 12% p.a. and to divide the balance of profit in
their effective capital contribution ratio. Prepare the
Profit and Loss Appropriation Account for the year
ended 31.12.23.

vwugeater  epgar flssdd  erusmsll  LSTH®,
g&dler, seg wHMID Csmammed oHCwmrr 1.1.2023
ST Fal Lrarend Himeuarsamss Qgm_ridlert. s&8ler
SiflpstiuGsHu 1.1.2023 e en. 10,000 whmitd,
Cogib  SdlpstiuGssiiurLg ep. 5,000 1.7.2023
S, gars 1.1.2023 ey wpsedléd ep. 20,000
SN psliLhSSH g <, QTTED 31.7.2023 eyl
cuantlasHledlmpgl ep. 8,000. Cerammadl 1.1.2023 =jerm
Qsrssgsdled e 12,000 <& o wibsg. 1.6.2023
e ep. 4,000 yse|b, 1.11.2023 ojerm ep. 10,000
U&Ha|D GdDSSILLL G 2023 b YTged eUTSHET
gh. 56,100 flar emud FFLgaITTEET, LBIEGSTIIsSET
SHIGET  POFSATHRIS@H&GE 12 op @rreamgn@ eullg
aupms (plge| Geugearm. CoaIb @russler Foameaeni
Sjaupdler vweeaer epogser umsalliy  eldssHe
au@ss  Geuamr@®w. 31.12.2023 < prGarm
Wy RaTOsGNu Qeru BrL @HI&S. (Hé
sasmad sWiléEsea|b.

Or
7 S-6209




14.

15.

(b)

(a)

(b)

(a)

(b)

How capital accounts of partners are adjusted when
the new partner is required to bring in the amount

of capital in proportion to his share in the firm?

ydw  epulert  Blpeargdld  searg < umdbhE
AlssHer epesarsdler eraneu Gamearh eumbGLITE
oLl _L_MeTT&ert 6or EPOSET & T & (GBI eTeuGTM)

sM@swwiu@Hog) ?

Enumerate the main points which require attention
in case of retirement of a partner.
@m glLrerfler @uepdHud  gHULLTD Seuard

CoamauliLhbd WP&HusSHeusms e4laTsEs.

Or
Write the specimen of Realization Account.

oS B sarsfer wrdilew erpgis.

What are Accounting Standards? Discuss the main

objectives of such Standards.
SEMSE WD STHMOSET WMl ? SSMSW SIhisart en
w&3w Crrésmsamerts UHM efleumdlésalb.
Or
Give a list of Ind-AS.

Ind-AS-@err Ll igwed(His.

3 S-6209




16.

Part C (3x10=230)

Answer any three questions.

On 2nd January, 2011 Vinod opened a current account
with the Allahabad Bank Limited; and deposited a sum of
Rs. 30,000. He further deposited the following amounts :

Details Amount in (Rs.)
15t January 12,000
12tk March 8,000
10th May 16,000
His withdrawals were as follows
15tk February 26,000
10th April 30,000
15th June 14,000

Show Vinod’s a/c in the ledger of the Allahabad Bank.
Interest is to be calculated at 5% on the debit balance and
2% on credit balance. The account is to be prepared to be
prepared as on 30t June 2011. Calculation may be made
correct to the nearest rupee.

sareurfl 2, 2011 e S@sTUTS eumbidl G L&
sasmss Oarimdeant o1Cams  wombd em. 30,000
Asrensenw GlLumdll Qewugmr. e Guoaud GeremLd
Asrenssamer CLurd CQanigm.

&fluid Qgrena (em.)
soareufl 15 12,000
wrrg 12 8,000
Gw10 16,000
Sleurgl Ne&sOS6T 6o (hHOmD
Qogeuf 15 26,000
eriigéd 10 30,000
sg9er 15 14,000

SjasTurs  eunduler CuGrligd NHCGammsdlen samsmss
sT(. upm U 5% whmb sLer @@wLided 2% eulig
samsSLluL CGouamrhb. eg9er 30, 2011-& seawds
swurfssiiuL Ceuam(Hb. SaTESE(H AHED 2 6rar oHLTiISSE,
Flwred QeliwuiuL .

9 S-6209




17. From the following information, prepare Delhi Branch
Account in the books of head office for the year ending on
31st March 2013 :

Particulars Amount in (Rs.)
Opening Stock (at cost) 17,80,000
Opening debtors 1,40,000
Opening petty cash 2,500
Furniture (opening) 60,000
Opening creditors 60,000
Goods sent to branch (at cost) 52,20,000
Goods returned by customers to Branch 57,000
Goods returned by Branch to H.O (at cost) 78,000
Cash received by Branch from its customers 61,10,000
Discount allowed to customer 5,000
Bad debts written off 10,000
Credit sales 72,94,000
Cash sales 3,20,000
Petty expenses paid by Branch 80,000

Cheques sent to Branch for expenses:

Salaries 3,00,000
Rent and insurance 1,20,000
Petty cash 78,700

Goods are sold to customers at cost plus 50%. Depreciate
the furniture @10% p.a.

10 S-6209




Qereu(md FHeualedl(ppgl, 31 i 2012 e (wpigeuan b
ST HETET MO SHDUIDEL LSS50 GlLebedl Flaners
sasmad sWiléEseab

eflupgp Qsrens (om.)
Qa6 s76HIIL 17,80,000
Qar_ss sLammefser 1,40,000
Qzr_ss fowany Qrrésd 2,500
SETLIMTL_ThIGET 60,000
QsmLss sLaibCsmT 60,000
F1é@ Haars@ Si@tiutiulLar (SLssellanaulied) 52,20,000
Mg dmswrerise Hamersd HmLd eu &7ée, 57,000
O ADIIDESANE Sever Hpdy @ILu FT6E 78,000

dlevar sigen aumgdaswariaetblbhg GupiLLL Led  61.10,000

QUTIGSEEHWITET(H (&, SETeTLILG HGLDSHEHIILIL L g 5,000
QUMTTS &L SemEhLly 10,000
sL e eflbLeen 72,94,000
Qrrés albueer 3,20,000
Slenar QgausHu Howeny Dswa|sar 80,000

Qree|5@EsaTs sTCIFTMOEET Hamardh@ eIl L me:

FOLIETLD 3,00,000

aurLana whmd ST 1,20,000

foaeny Qewa] 78,700
QumpLser 50% S (SO QUG &E0 & WITETITE (@h (&

dpsiiupGdlearpar. SeTuTLEsefler WLIHLUMUE (GMDESE|LD

@ 10% eprmesTiqH (.
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18.

19.

20.

A, B and C are in partnership and during the year 2022
earn Rs. 83,000, A and B are entitled to 5% p.a. interest
on their capitals of Rs. 60,000 and Rs. 1,00,000 resp.
while C, who has not capital in the firm is entitled to a
salary of Rs. 12,000 p.a. C is also entitled to a commission
of 5% on the profits after charging interest, salary and
commission. It is further agreed that the residue of
profits should be appropriated as to 20% for a charity
fund and the balance sheet equally by A and B. Prepare
profit and loss appropriation account and partner’s
capital and current account for the year 2022, if drawings
of the partners during the year were A Rs. 10,000; B
Rs. 9,000; C Rs. 13,000.

A, B vppidb C sal Lrawenouiled 2 erarert, Ggyd 2022 «1b
Semgd ep. 83,000, sburdsdopriser A wHmd B
Sauisafler epagaromer er. 60,000 wHmibd ep. 1,00,000 g
arhEE 5% ey Qup o fMaw 2 arh. ACs Crrsdd
Bimeiasdla epageand @deors C, . 12,000 sbuerd Qum
o flevw 2. arh). C eullg, Fbuerd wHmb slaper @SS
@ erusdd 5% sweser Qup 2 flevw 2 ar@H. Ggyb,
orugdler  issms  Osramh  HHEE  20%  yse b,
@muyblenes @flteu A womib B sowrse|b @siés
Couar(d  ererm  eUils  Cameteriu(dng. 2022 <yib
YE@TGHSTEAT  OTL  Begl  RFGE(HNE SardH@  LHDID
gal Lmatliller  epogeard  LHMID  BLULE  SETEMES
SWTH&sa|b, e[ (WP(PeugIh dnl L reflsallen euamyULBisaT
A em. 10,000; B em. 9,000; C em. 13,000.

Explain the applicability of Sec. 37 of the Partnership
Act.

gl Lnawennd &L gdlear il 37ar  QUTHSSEHT0 gL
Seenanl eNerd@s.

What are the various assumptions of IFRS? Explain

IFRS @err uavCoum iaiomamiiser eremen ? adlemd@s.

12 S-6209




S-6210

Sub. Code

24BAF2C2

B.Com. (A&F) DEGREE EXAMINATION, APRIL 2025

Second Semester
Accounting and Finance
BUSINESS LAW

(CBCS - 2024 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A

Answer all questions.

1. Define contract.
RUIUBSEH®S eI TUIMIGS.

2. What is meant by acceptance?

THNISESTET@ERSH CTETMTE 6T6MTEN ?

(10 x 2 = 20)

3.  What do you know about contract of guarantee?

2 Ssreuns @UiLBsD LD Bl Sideug wrg ?

4.  What is meant by contract of indemnity?

Genemrs @UILIBED GTETHTE) 6TeITe ?

5. State the meaning of bailment.

UUmLa| QUTHET F(Hs.




10.

11.

12.

Whether assignment of contracts valid?

@UUBS UL L] CF0eaLigquimE@Lm?

What do you mean by law of agency?

s b GNSg Brser flanariig eremer ?

Point out the number of parties and number of contracts
in a contract of guarantee.

2 drauns  QUUBSSHD THFMar  @UILBSHIGHT  OHMILD
RUUBSSTTTEET 2 eTeran eTariiang @Ml (.

What is the position of finder of lost goods?
Qzrenebs Qurmer sartL(Hsseufler Hlane eremer ?

What is meant by common carriers?

Qumglairser Caamel eTemmTed 6TebTen ?

Part B (5 x 5 = 25)

Answer all questions, choosing either (a) or (b).

(a) Differentiate between contract and agreement.

@UUBSLD LOHMID 2 L aTUigsms CeuniLi(hssBsET.
Or

(b) What are the sources of commercial law in India?
@nbdwureller cuantlas LSS U STIRIGET Wranel ?

(a) ‘An agreement without consideration 1is void’.
Are there any exceptions to the rule? If so, explain.
‘Livenar QeLiwtiuLrg ULBSD CFoorg’. aldss
gCosad  NHellwd@GHeT 2 GTeTHT? LG UITETTED,
oNlaTE G higeT.

Or

(b) In what circumstances offer can be an terminated?

b Gplaoulld spimasmu Bnds (pigub?

5 S-6210




13.

14.

15.

(a)

(b)

(a)

(b)

(@)

(b)

Differentiate between fraud and misrepresentation.

Cuorsigs@b seauprer cflersssHn@n 2 drar Coumuim(.

Or
Describe the essentials of wagering agreements.
UbgWw @UILIHS IS 6 6T SisHwreidlwniseaner
aNeufléaallb.
State the cases in which a claim for quantum
meruit arises.
Uass(p Cgrens o MawCsamyed erpb Hlape|samend
FoMIG.

Or
Explain the rules regarding performance
of reciprocal promise.
ugevLy euns@ndew BHlavpCeunhmieusnarear clldlsamer
ollaTE G higeT.
Describe the implied warranties under the Sale
of Goods Act.
QumpLser elpumers sLsder & WwDUPSLOTET
2 sgreunsmsmar elleufléEseb.

Or
Explain the rights of an unpaid seller against the
buyer.

GUITTRIGLIGU (S (S, T s LIGWTLD QeqssTs
edlpuenearwimerfler o Mensaer 6llers @ miger.

3 S-6210




16.

17.

18.

19.

20.

Part C (3% 10 = 30)

Answer any three questions.

Describe the elements of contract with suitable examples.
PULBSSS 6 samsamer CQUTHSSOTET 6T (hSSISHH T (H&@HL6r
aNeuf&gayLb.

No consideration No contract critically. Examine.
uflfvemar @dme @uuBsD Qdame elbisar FHwurs
9T BISET.

Briefly describe the various types of mistake.

LOGeun UMSWITET SEUMSMETE F(H&S&5LTE alleuflEsa|b.

Discuss the legal position regarding awards of damages
for breach of contract.
@uiubs  Bpaissrar  @QuulSh  epri@eg GsTiiurer

UL Blevelium enl elleurdl&ése,b.

Analyse the duties of buyer.

cumiI@GUeUMET sLewaamer LiGUumie| Clauu|kiger.
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S-6211

Sub. Code

24BAF2S1

B.Com. (A & F) DEGREE EXAMINATION,

Time : 3 Hours

APRIL 2025
Second Semester

Accounting and Finance

(CBCS - 2024 onwards)

Answer all questions.

TRAINING AND DEVELOPMENT

Maximum : 75 Marks

(10 x 2 = 20)

1. What are training and development policies?

LulpH& womitb Cuobur’ Hé QsTeaTansseT 6Teire ?

2. What are two key requisites of effective training?

vweyerer LulhFssrar p Sl Caemaiser wrene ?

3. What is bottom—up approach in TNA?

s0pS Caslwd gnl Laplier SPIOL L DEWIEGPED CTETET ?

4. Name two common methods used in TNA.

TNA—cfled

5.  Define the concept of “learning curve”.

LwerU(hi&s UL (b
ponsmerd &ML e .

Qumgemer

“shpd euamaerey” D H(HSMS CUMTLNIEHGLD.




10.

11.

12.

Why is adaptability important in training programme?

LDHES Sl L risefled gaeuanbdliL] erem (PEHEWLDTETS ?

What is an e-learning environment in training?

Lulhéluded WOT-SHMED @GP GTETHTED GTabTen ?

What is training process outsourcing?

Luwip & Qewdapeann e Carréln eremmmed crerme ?

What are training evaluation frameworks?
LWHE HUE( SLL®WLLUILSET GTETDTE 6TETE ?
Define “CIRO Model”.
“CIRO wrélflepw” cuenpuim&se]ib.
Part B (5x5=25)
Answer all questions, choosing either (a) or (b).
(a) Why is it important to align training with company
strategy?
Blmeiargdlen o sHuyen LulpHew @eavewtiiLigl e
W&Swib ?
Or

(b) Discuss the role of trainers in an effective training
system.

@@ uweadrer Lipnd Sjewiided vulpHwmeriserfer
ukiesl updl efleurdlésab.

(a) Explain the key objectives of conducting a Training
Need Analysis.
ulind  Gsemeu LEGUUTL®ME) BLEFHGUSE (PSSl
Crrésmsamer 6dl6rs @ miger.

Or

9 S-6211




13.

14.

15.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the top—down and bottom—up approaches in
TNA.

sl Caflws i L ewinder Guoealmbg Sp wHMID
EpHlane Dami@Gupansamer alleTs@s.
Explain the principle of association in learning.

sHOl Fhiss QsraTansamil 6l6Td @ BIsET.

Or

What is the difference between distance learning
and e-learning?

Qzreregrs sHDIE@GSL e  SHHAISEGHD 6Tt
MgHwnsid ?

Discuss the importance of aligning training
programs with business objectives.

Linds Sl mismer  cuentls  CBmEshigemL 6T
@aeiiugen (PpaHwsgieusasl LD eleurdlssab.

Or
What factors should be considered while designing a
training program?
Lindls Sl sms  eugeuambE@GHDLGOUTE  eTemer
srrenilaamend smsSe Camearer Gouem(Hib ?
What are the four levels of Kirkpatrick’s model?

grsum’_Madler wrdlflufler mremg, Hlevaser wrameu ?

Or
How do economic conditions influence corporate
training?

Qumrmermsmy  Hlevawenwsear Gumblmeuear LudHélenw
ereueuTm LINSl&dlemment ?

5 S-6211




16.

17.

18.

19.

20.

Part C (3 x 10 = 30)

Answer any three questions.

Explain the different methods used in employee training
programs.
uenflurert LLHAS S L risefled LwaTLHSSLILIHD LOCaum)

(PDDSEET 66T & BISET.

Discuss the role of performance appraisals in TNA.

TNA - &flev Qewedper wHuhseler umest ubHD
clleumdlésab.

Discuss the impact of emotional intelligence on learning.
shmaled 2 anrES micmantHlelen sTEsSMmE lleundlésab.
Compare the benefits of classroom training vs. on—the—job
training.

au@liuepls  LWlHSuler  perenseearwd,  LemfludLL
L& uler memanosamerd UG Hs.

Why is trainee feedback essential in training evaluation?

ulpd  wdiniiged  wlbpd  CQupueufler smEH e
Sjeudlwib ?

4 S-6211




S-6212 Sub. Code

Time : 3 Hours

24BAF2S2

B.Com. (A&F) DEGREE EXAMINATION, APRIL 2025
Second Semester
Accounting and Finance
EMPLOYABILITY SKILLS

(CBCS - 2024 onwards)

Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

Name any two key employability skills.
gCsend  @uewr(h) W&Hw  Ceuameeumiilig  Fmensaners
GO Laib.

How do problem—solving skills help in employment?
Yrggemar  Sis@  Hpearsdr  CeuemeeuriitnGed  ereueummy
2 sa|Slermer ?

What are embedded employability skills?
o LQundlssiul . Ceuemeeuriliyg — Smemser — eremmmed
GTGUTET ?

Name any two key dimensions of competency.

Spafler gCsapd  @rewr®  WsHw  uflbrewThiEmers
GSOLELab.

Why is problem—solving an essential employability skill?

rssemansemars  Siliug a6 ) 9SS wreudlw
Ceuamaveumiitig Hperns @) HESH g 2



10.

11.

Give one example of showing initiative at work.
Cauameudleb  (perr  (pwdHE  TOLULSDE @@ 2 STFERILD
Q&mHriser.

What are the main sections of a resume?

e amaiiugler wpaHlw Dfleyser wrene ?

Name one common type of resume format.

®m  Qumgeurar  ees  Grevuyld  eUgEILILIS
GO Lab.

If A is the father of B, and B is the mother of C, how is A
related to C?

A eemueur B Wlenr gpenswnseyd, B eremueur C uller
srursa|lb @ mbsrd, A eearueut C o Ler  ereueumm
QamryenLweur?

Identify the odd one out: Square, Triangle, Rectangle,
Sphere.

MsHungors o 6meTend WM  STewTe|d, FHITLD,
p&Carentd, GFcucusid, Camerid.

Part B (5 x5=25)
Answer all questions, choosing either (a) or (b).

(a) How do employability skills differ from technical
skills?
Ceauamaeveumiitig Smenaer Qzmem LS
Senaafledl(Bhg ereueurn GCoumuBEermer.

Or

(b) Explain the role of employability skills in securing
and retaining a job.
em Coaumeeawl urgsTiudlab &5 dausgls
Qareteudlaid Geuemeeumiitig Foenseflen Lkisamer
ollaTé @ migeT.
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12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

Explain how task skills can be developed and
improved.

uenfly SHpensaner ereleumn euaTisg GLLUMSSOMD
CTETLIENS Gl 6T (& MhIGET.
Or

What is task management, and how does it impact
productivity?

Liewtl Cuevmeirento CTGITDTED GTGITET ? 3G
2 HusdHsHpenan ereucurm LTHsSH DG 2
How can good communication skills improve
planning and organizing tasks?
uaflsemers S L 0Heudlad PhiSmLLILSIQILD B
saeued Csmimyg e ereucurm Gobu(HIb ?

Or

Explain the connection between teamwork and
initiative in the workplace.

el gdled  @Gupriueais@h weripubhslsEE@Gn o 6rer
QaT_ireni) 68leTd @ mBISET.
Why is resume writing important for job seekers?
Cauamar CoOUTHERGE &SHWHLTD  eT(pgleg e
WPSHWb ?

Or

Explain the role of a resume in personal branding.
sefluul L Gyrearriqmdled e elaramiugdler Lk
ollaTé G higeT.
If “All cats are dogs” and “Some dogs are lions,” can
we conclude that “Some cats are lions”? Explain.
‘e Lenars@pd  Briiser  wHmid  “‘fe  Bruiser
Srshsdr eamrd “‘fe Lmarsdr Shisnhigr  ererm)
BID (Plg6| CFw (piguom? aq6md @ hisGer.

Or
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16.

17.

18.

19.

20.

(b) If A is taller than B but shorter than C, and B is
taller than D, who is the tallest among them?

A eewer B—smy &L 2 wpwomsed C—m &Ml s
GLeLwrseybd, B ereruei D-ew 6l 2 wiymseyb
G\(BBSTED, Sfauirgafleéd wmm W& o wywrerel?

Part C (3x10=30)

Answer any three questions.

Explain the importance of internships in developing
employability skills.
Caumaairiitiyg  dpearseaer  euariliugled  uwbHFlsafler

W&HWSFleuSMmE 66T @ BISET.

Discuss the importance of time management in handling
work tasks.

Cauamerts uanflaeners enswimeteudledy Cry  Cememantouder
WsHwsglausamsls LHH eleurdsse,b.

Explain the link between problem—solving and
enterprise success.

fss  STe@b  Hoas@b  Hneuar CeupdlE@En 2 6mer
Qam_iten 69leTd: @ mISET.

Draft a resume for an experienced professional in the IT
sector.

olp  glepuild Seueld  euTlbs @@ LT (mEs e
TSNS GUETE (Ol FUIU|BISET.

A train 240 meters long is running at a speed of 60 km/hr.
How long will it take to cross a pole and a 300—meter—
long bridge? Explain your approach.

240 B Berperar g guid wanfllsE 60 A5 Ceussdled
pbhdngl. @@ sbusmswybd 300 ST Barpdrer
LTSS &L && ereucuene| GBID Dp@&D. <IemiE(PennenL
cllemé @ miger.
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